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PART - III
Geudluiweo/ CHEMISTRY
(5P wHmd prdle eifl / Tamil & English Version)
ST emey : 3.00 wenfl GBI | [ Qs wHubluamser : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

Sidleyemyast : (1)  mandg ellamss@sb slwursl ufeurdl o drargm eremugener sflumigs&
Qardterayb. DEFHLILEETR GepulmUlder, simpd sarsreaflliumearilid
o L angwings Csflelasea.

(2 Beow sdeg soUy owlea LLECL TWHMUSDHESL

S &CeTyHeaugshHGh LuauBSS Ceauam@b. ULRSE auamyasnE
Quendléd LweTUBSSeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@olIuy : Gaeauwnar QLSS ULLD euemhgl SSTUTHSEET 6T(LHSaLD.

Note : Draw diagrams and write equations wherever necessary.

u@$ - I/ PART -1

@Oy : () Sewenggl ellamssEpsEd edlenLwaflsseayLb. 15x1=15
(i) Osr@&sLul@drer Bre@ wIHM e salled Wsab gHyemLw
eflenLenwig CaiblsBsg15 GO GLer eflenL ulaamnid Cairgs) eTpseyid.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. <ign Bleonsde Hlwwwors G eneumeuameupmer LwearLBeug TS K
(1) (2 (<) ,C12 (@) " (m) o<
Which one of the following is used as a standard for atomic mass ?
(@) (C12 (b) ,C12 © L8 d) ™

2. ETREDSE SMTHG HMOWNE asCrmqhET Djenehd FLOGUTLITES -
(é'l) ﬁlp = E\p

8 2
() Viw+ sz E+V)y=0

aZ aZ 2
W oW 9w 2m

+
(@) ox2 ay2 922 h2 |:|
i 2y | 2%y _ 2m

(") 22 T2 T Tt o

Time independent Schrodinger wave equation is :
A
(8 Hy=Ey

8w’m
b Viy+ 71’12 (E+V)y=0

%y . 2m
+ ¥ e V=0
O 2t e Tt

%y %y 2m " X
+ - E-V)y=0
@ 32 o2 | a2 h2 ( )y

3. GeneuheuareupmeT Gmpeunar ersLTTan salfgarenn taream . seflown oTg ?
(=1) yGrmlen (<) GCarmiflen (@) SCurger () AL e
Which of the following is the least electronegative element ? ‘

(a) Bromine (b) Chlorine (c) Iodine (d) Hydrogen
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; 8122
g filiquwib o Lam | &g CasramrHereng.
() 1p+0n (<) 2p+1n (@) 1p+2n (/) 2p+0n
Tritium nucleus contains :
(a) 1p+0n (b) 2p+1n () 1p+2n (d) 2p+0n

Wemeupeuaeupmiat Was Gaphs deutiuflamliLsseaann Garam gl :

(=9'I ) K2C03 (%) N32C03 (@) BaC03 ( IT) L12C03
Among the following the least thermally stable is : .
(@) K,yCO,4 (b) Na,CO, (c) BaCO, (d) Li,CO,4

Sps@mcupmiet GO L erenLweTer paallie euruellen LaTLE®eTE Eflwnss
GN&EWL Ll erg ? [Qauliuflee (T) Gsaslafler (K) sardsliu@éng).
P
(=1) |:|

A%

(8)

e

Which of the following diagrams correctly describes the behaviour of a fixed mass of an ideal
gas ? (T is measured in K)

(a)

|

PV\ ‘ j
\%
| L
\%
[ Hliys / Turn over
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7. Geuduwrpr Qswedapepuid Gereumeuateuhpiet 6rg 2-aTenLo ?
(=) q=w (@) q=0 (@) AE=q (7). BAV=0
In an adiabatic process which of the following is true ?
(@ q=w (b) q=0 () AE=q (d PAV=0

10.

Fe(OH)4(s) = Fe3*(aq) +30H ™ (aq), eranp efenaruier OH~ sjwafulier depley
1/4 wLEErS GoDbsTeD, Fet -ar swfmas Qedaurang :

(<=1) rprg (<2) 1/4 WLAETE AFD GPDILLD
(@) 4 wLRETs SHsMNsE0 (rF) 64 wLLRGTE G5 HEEW0

In the reaction, Fe(OH),(s) = Fe3*(aq) + JOH ~(aq), if the concentration of OH™ ions is
decreased by 1/4 times, then the equilibrium [concentration of Fe3*+ will :

(@) not be changed (b) also decreased by 1/4 times

(c) increased by 4 times (d) increased by 64 times

10% W/W Geflajmrw Gemgwid eanl rréame® Sirssmrssler Guremradiy.
eTeent ? ‘

(<) 2.778 () 2.5 (@) 10 (7) 0.4
What is the molality of a 10% W/W concentrated aqueous sodium hydroxide solution ?

(a) 2.778 (b) 2.5 € 10 d) 04

Qemaupeueneubmier w IeneRTLIL| STETUILLTS (P& eTg) ?

(1) 50, (@) NO, (®) co, (%) 1O

Which of the following molecule contains no = bond ?
(@) SO, (b) NO, () CO, (d H,0
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11.

12.

13.

Xl - JULY 2024

CH3—(I2H—COOH erenp GarwgHen IUPAC Quuwr :
OH

(=) 2-@apgradl LruCunrails e

(=) 2-waplgréd) yriuuemulsds ojulen

(@) yruGuen-2-aya-1-guils e

() asrrursslerdsanmed

The IUPAC name of the compound CH3—(IZH-COOH is :
OH

(a) 2-Hydroxy propionic acid

(b) 2-Hydroxy propanoic acid

(c) Propan-2-ol-1-oic acid

(d) Carboxyethanol

Quentenged amirLiem GBI jwiestudle @m&aﬂun{@sﬁ eTeiea ?

(=1) sp? (<2) spd® (&) sp’ () sp*d
What is the hybridization state of benzyl carbonium ion ?
(@) sp? (b) spd? (© sp? (d) spd

Wenmeumeuareupmier 1CrmClind sanenvenw QUDNBEsTSs 6ra) ?

(=1) © (<=1)

@ [ \ (%)

S

Which one of the following is non aromatic ?

Q © ®
(©) (/ ) \5 ‘ (d)
§
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14. Cl oignelen QL mweilenar’ Qummsg CHS—CH=CH—CH2—C1. Garwmreans

15.

e euanslILBSSLUILIHEDF).
(=) ellevaned (<) BiDeED (@) rflenemrw (rF) Sifgdansa

With respect to the position of - Cl in the compound CH, —CH=CH CH, —Cl, itis classified
as :

(a) Vinyl (b) Allyl (c) Secondary (d) Aralkyl

sapm  :  @CamACampib Qupp pETamudis Caradlsaflar BisflssnuL
LWETUT® & wHmd $ir raUT L 2 HeuTEGADS.

SNTETILD : ssensw BadTamuirs rrd)aﬂaseh LO&STSEEL.

(1) sBadml WHMID STrewTd M, Go@b srrawLIEE SapHlDEG Filurear
ellem&&LmELD.

(<) Fadmy HMILD STreTeTD &), <y enTed, SMTewTOIEIS SDDE sflwrar efarésd
D{DQ.

(@) enpmy Fifl e .5m;rmﬁ> geum.
(7F) &abml WHMLD Sryeverd Qran(Hn Seum.
Assertion : Excessive use of chlorinated pesticide causes soil and water pollution.
Reason : Such pesticides are non-biodegradable.
(a) Both assertion and reason are true and reason is the correct explanation of assertion.
(b) Both assertion and reason are true but reason is not the correct explanation of assertion.
(c) Assertion is true but reason is false.
(d) Both assertion and reason are false.
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u@&$ - 11/ PART - II

GOIUY : eremeuBuenid opm elamssErsE o walssayb. eflam eram 24 -&@
SLLmuiwns efenLweafl&EaL. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16. euUU Sjgnblenp — cuenyuwimy.
Define relative atomic mass.

17. n=4 -&@ snsdHwrer ML rosafler cramafsmsulamans GHUGHS.

How many orbitals are possible for n=47?

18. B eury wrHm eflenar eremTed cremen ?

What is water gas shift reaction ? |:|

19. @@ euryeier sarsiere wHMD Gurdsemar QAgriyu@sgD saflsepeam
QUTULITL g 0ETTS S(HS.
Give the mathematical expression that relates gas volume and moles.

20. 46y & Igemr BLHMEN euTwm).
Define Gibbs free energy.

21. swhoe Qeheile eraieils LIHPVLD Qéomaualayd swhloowrag erer
Quiigs swflae aar smsLLEHADS ?

If there is no change in concentration, why is the equilibrium considered dynamic ?

22, Gereumd Garmigamler aulgeuenoLIeL 6T(LHSIS.
i 13- Bimsed essGarr GansGeue
(i) 3-ergHe-2-GgHe-1-Clueiear
Give the structure for the following compounds :
(i) 1, 3-dimethyl cyclohexane
(i) 3-ethyl-2-methyl-1-pentene

[ HiBriys / Turn over
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23.

24.

om Gsivgflar ACTTGLLKE gatmwew apssd flfuug GTEU U T )

Srorefldseombd ?
How does Huckel rule help to decide the aromatic character of a compound ?

Qereumid elevarseaner Hleppe ClFlis.
@) CeHsCl+ Mg —H

@ CCly +H,0 —2

Complete the following reactions.

() CgHsCl+ Mg —HF

() CCly +H,0 —2>

LS - 11 / PART - 111
GOy : eTemauGuienid oym aﬁ]emné;a;@é;ﬂmﬂml_maﬂésasmm. eSlerm eramT 33 -5

sLLmuwns e weflGsayb. 6x3=18

Note : Answer any six questions. Question No. 33 is compulsory.
25. Wereumeuareupmlen eraflu elldlg eumiiLirB&Eer ereve ?

@) Gsaflé 2 amer LlGpsGLmen (CoH;,0,)

(i) Csafir LHMD GeTbNuler 2 arer &moolfer (CgH, N,O,)

What is the empirical formula of the following ? '

(i) Fructose (C;H;,0,) found in honey.

(i) Caffeine (CgH,yN,O,) a substance found in tea and coffee.
26. Gamagenser 2,&HnCampilurs QswuduBeug erem ?

Why halogens act as oxidising agents ?
27. unfeverpg ereueurm swriéslLuGHDs ?

How is plaster of paris prepared ?
28.  Qud eumydseflen qumeitit qurabeiv FLoaLm g e eTpd, Siflayiater srreafsamar

ellend: &s.

Write the Vander Waals equation for real gases and explain the terms involved.

-~
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29. “RCsTLreNs sepsdsar crayd QErHUsGEMS UETLDI.

Define the term “isotonic solution”.

30. Sy GHUY euenrs : GenemriiQoor o Lalamsay.

Write short note on hyper conjugation.

31. wfllen e ECemmanrenL siflaerey CHaMgl 2 Lan efleariiupggib Gurg: erarer
Blap ?
What happens when acetyl chloride is treated with excess of CH;Mgl ?

32. ergl yulllen urgsTlinLg Gl eren &MHSLUGEDE ? erem ?
Which is considered to be earth’s protective Umbrella ? Why ?

33. &S P6 pPOGFNDEG ePpaSHIam c%ﬁtﬁ]l;ﬂd) (MO) cuenTULGNG CUMTE. DS
WenemtiLg Srémss sanédBs. Gogib O, Apeésamn LTI STHESSeTenL0 &g
cTaod STL_(hs.

Draw the Molecular Orbital (M.O.) diagram for oxygen molecule. Calculate its bond order
and show that O, is paramagnetic.

LGS - IV/PART - IV

GOIY : SOEISE TS @hEGD afen_wefl&seyib. 5x5=25

Note : Answer all the questions.

34. (=) (i) Cuomed ergd aurigenguled g eremer Lflhg CararLmi ?
(i) epoeell Ggrieu aleufl.
3|V60F)
(<) CurT el wrdfuler smeGCETaTEMmET CT(HEIS.
(a) () Whatdoyou understand by the term mole ?
(i) Explain the diagonal relationship.
OR
(b) Write the assumptions of Bohr atom model.

[ Sisliys / Turn over
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35. (<) TEGHT HmIL LUMTT @ADL JREH eranpmed eremer ? LIMFT N QI LI g en e,
< TECHT OADLIRENTE GTEUGUMD WDTHOIGUTL ? '

36.

(<4) (i)

(b)

(i)

SIV60G
sroflugder e ulflwd wpsAusgausamgs efleur.

umdelen elHlienard Hms.

What is ortho and para hydrogen ? How do you convert para hydrogen into ortho
hydrogen ?

(1)

(=1) ()

OR

Describe the Biological importance of calcium.

I

Qeuiu Quisseilwallan epeammmd cldenwd snmis.

State-Boyle’s law.

127°C wpmid 47°C Hdw QetiufloasEpsdeaL Cu Qewau@n @
Quibdlyd 2w Geulin wosHmHal @B GO L SjeTa) <yHmena
2 Pleradlng. 2 rmieilen ppaid erhg <HmOd Blib @dors Hlanaoulled
Qupdlrsdlen wifleuls s56is QuUsssHnmas sarsd®Hs.

S0V

(<) 3Hy(g) + Na(g) = 2NH,(g) erenp elevaruflen swfleer wriled K, wpmib
K. -&gnen Gurgjeurar swenm igeme aumed.

(2)

0
(i

State the third law of thermodynamics.

An engine operating between 127°C and 47°C takes some specified amount of
heat from a high temperature reservoir, Assuming that there are no frictional
losses, calculate the percentage efficiency of the engine.

OR

Derive a general expression for the equilibrium constant Kp and K. for the reaction :

3H,(g) + Ny (g) = 2NH,(g)
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(<=1) ()
(i1)

11 8122

FOTADE Bgnan wippsiHer eflaarame eflars@s.

Qowsen SaliysHmen erenmred eremen ?

SIVEVGI

(<) Cga;rﬂ‘“‘“\)' Yeopwla sflws Cerwbrisald o drer apragengemer erepL Wbl
Popuen sssiaugHman cfarsss.

@ @)
(i)

Explain the effect of pressure on solubility.

What is dipole moment ?

OR

(b) Explain the principle involved in the estimation of halogen in an organic compound by
Carius-method.

(1) @)
(ii)

(=4) ()
(i)
@@ @
(i)

(b) (@)
(if)

TS CrrEnfs elamerellenar 69pH@s.
1-9Gyw, enL e whmib Z—QQLngm ereueurm CaupuBs idleums ?
S{6V60G)
usen Geudludwied eremmmed eresres ?
2 ull(merer wHmD o WllyhHo gser Qummer wreauBhsSaamer CaumuB SIS
Explain electromeric effect.
How will you distinguish 1-butyne and 2-butyne ?
OR
What is green chemistry ?
Differentiate Viable and non-Viable particulate pollutants.

-00o0-
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